
POWER TOOLS

www.ronixtools.com

3260
Angle Grinder 2200W



POWER TOOLS

www.ronixtools.com

Number Name

1 Outer flange

2 Inner flange

3 Spindle

4 key 3.9×13

5 Dustproof cover

6 Screw M5×16

7 Fore cover

8 Bearing 6202

9 Bearing6202 cover

10 Screw M4×8

11 Big gear

12 Circlip Ф14

13 Bearing 608

14 Screw ST5×40

15 Spindle lock button

16 Spindle lock spring

17 Spindle lock pin

18 Gear box

19 Nut M7

20 Pinion

21 Bearing 6200

22 O ring Ф34×2.8

23 Bearing 6200 cover

24 Screw M4×10

25 Armature

26 Dust ring

27 Bearing 608

28 Bbearing 608 sleeve

29 Baffle

30 Stator

31 Screw ST4×75

32 Motor housing

33 Left&right handle

34 Screw ST4×16

35 Brush holder

36 Screw ST4×12

37 Carbon brush

38 Brush spring

39 Side cover

40 Switch

41 Cord clamp

42 Power cord

43 Cord sleeve

44 Side handle

45 Two feet spanner

46 Wheel guard

3260
Angle Grinder 2200W


